KFRL | ERIKR | A4 FERJI AT R XM 18.1~19.2  km X No 34 ST >t SR BT A& 19.000k EEITERRR H=R-5

1) ST EET L

11.3 2.0 /.0 6.4 2.1 6.8 2.6

Bc

4.2
[«

|

Auc

) BRELTEEH 3 BENNGEH
(mm)
= w 20
aF1E 7K e 10| Omr/he % 38hr= 380mm s om o=
No. | +B |BEEE| #E | WEH | NHERA | @z o o |lnnshex pdohes 220nn IR a0 P E| 2400 | mm
(kN/m?) | (em/sec) | (kN/m32) ) Tpem| - S & M o E 1.0 |mm/hr
Bc 1800 | 10E-05 | 320 0 20l f S ok |#8 B M OE| 3800 | mm
Bs 17.50 9.0E-04 1.0 35 " BB prmm E 10.0 [mm/hn
837N L4l ) E &M E Al KB
X 121 N Sk miE km2
" g | sa3sr AT i1 & ANkpr [HERAKE] S
Ausf 18.50 1.1E-03 0.0 35 6 | [poerae| | g \ /£ A Féleir (5%K) |k 6 m FE| 166.24 m-hr
- 4 | S T — S mmr e 54 2 |z = -
Auc 17.70 1.0E-05 27.0 0 5[ » QM//] 42.6nr [N_pBaShr p 7 |1HEE KA 3 .
Aus 1800 | 1.0E-03 | 00 34 ol o R R
Aug 20.00 1.0E-02 0.0 39 . - - KGAETRE 1.1 [ m/hr
Lt 0 1020l 200 250 300
Ih 2 2B Chrd

- 207 -




